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<Calculate “n” when “Vc” is given> Lﬁaﬁﬂmmmmqm‘%qsawaq M12x1.75 fnunagiiaes
1 < v n:’l’
NAIAMNEIAA 7Tm/min TAAY
1,000*Vc
n= ——/
T[*DC (1000 x 7m/min) +(3.14 x 12mm) = 7000 =+ 37.68 = 185.77 RPM
Ve : ANUEIAAAY (meters per min.) ArAasaufinuzinlunisiiu M12 finanudasa 7m/min
Dc : (dusinAugnansuanvasitu (mm) a9 186 RPM

m:3.14
n : A2U15950U (RPM)
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<Calculate “Vc” when “n” is given>
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L T8AUSINAVBIAIU M12x1.75 IA21315250U 186 RPM
Ve : AUnRA1U (meters per min.)

Dc : idusinAugnansuanvasiou (mm)
m:3.14
n : AAFITBU (RPM)

fi@ (3.14 x 12 x 186) = (1000) = 7.008 MPM
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AMUS958 ¢ 100 Alawuns/aalas a‘hgmﬁl@ﬂwu?
Dc = 60 cm = 600 mm 1,000*Vc .
Vce="__ +~m/min
Vc = 100 km = 100,000m TT*Dc ?
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60cm 100Km/h e 1 43l = 60 Wi + 60 U = 884 RPM
m 1,000 x 100,000LA5 o

3.14 x 600 HadLUNT




